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QUIZ TIME - MATHS  

CLASS IV 

 

Answers the following questions: 

Q.1 Greatest 2-digit number + 1 is ___________ 

Q.2 Smallest and greatest 5-digit number in words _________, 

        ____________. 

Q.3 The product of greatest 3-digit number and the smallest 2-digit 

number is ______________________. 

Q.4 How can you make three is equal to 12? ___________ 

Q.5 Face value of 5 in the number 6, 45, 178 is ___________. 

Q.6 The place value of 9 in 98, 105 __________ 

Q.7 Standard form of 50000 + 400 + 10 + 7 = ______________ 

Q.8 Cost of motor bike is ₹ 55,000 and cost of a car is ₹ 2,58,00. 

Compare and answer which is costlier. 

Q.9 What is the total number of spots on a six-sided die? 

Q.10 (22 hundred + 80 tens) = ___________ 

 

 

 

 

 

 

 

 



 

Answers 

Q.1 Greatest 2-digit number + 1 is 99 + 1 =100 

Q.2 Smallest and greatest 5-digit number in words, 

Smallest 5-Digit Number - Ten Thousand 

Greatest 5-Digit Number - Ninety-Nine Thousand Nine Hundred 

Ninety-Nine 

Q.3 The product of greatest 3-digit number and the smallest 2-digit 

number is 999 × 10 = 9990 

Q.4 How can you make three is equal to 12?  By Multiplying 3 by 4 

(3 × 4 =12) 

Q.5 Face value of 5 in the number 6,45,178 is 5 

Q.6 The place value of 9 in 98,105 is 90,000 

Q.7 Standard form of 50000 + 400 + 10 + 7 = 50417 

Q.8 Cost of motor bike is ₹ 55,000 and cost of a car is ₹ 2,58,00. 

Compare and answer which is costlier. Car is costlier than 

motor bike 

Q.9 What is the total number of spots on a six-sided die? 

             21 (1+2+3+4+5+6=21) 

Q.10 (22 hundred +80 tens) = (22 × 100) + (80 × 10) 

                                             =2200 + 800 = 3000 


